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Semester 432 / MATH-244 / Quiz-I1

King Saud University

Question 1 [Marks: 1.5]:
Show that {(x, y) € R?|x* + y% < 0} is a vector subspace of Euclidean space R?.
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Question 2 [Marks: 2.5]:
Let B ={(1,1,1),(0,1,1),(0,0,1)} and C = {(1,0,0), (0,1, 0),(0,0,1)} be bases of

Euclidean space R® and [u]g = (3,2, 1). Find the transition matrix cPg and the coordinate

vector [u] .
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Question 3 [Marks: 2]:
Let A be 4 x 2 matrix with rank (A) = 2. Find nullity (A").
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Question 4 [Marks: 2]:
Explain! why the function < (x1,¥1,21), (X2,¥2,22) > = X1Y2Z1 + X2Y122 is not

an inner product on R3.
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Question 5 [Marks: 2]:
Let ug = (2, —1,'—2), U; = (1, 0,1) and U3
Find the values of x and y so that the set {14, uz, u3} is orthogonal.

= (1,x,y) in Euclidean space R>.
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